
    
             
               

                       ,   ,  
                          
     ,   (////// –      )  , 
 ()  ,                        
    

.         ?
()  ()  ()  () 
.         ?
()   ()   ()   ()  
.    ?
()      ()    
 ()     ()  
.         ? 
()  ()  ()  () 
.    ,      .........
()     ()     ()   
 ()    
.        ?
()   ()    ()  
  ()   
. –
()     ()      
()      ()  
.     –
()      ()   
  ()       ()  
. –
()    ()    ()   
()   
.     ?
()  ()     ()  ()  

. () . () . () . () . () . () . () . () . () 
. ()

.        ?
() – () – () –  () –
.        ?
() –   () –  () – () –

.      ?
() –  () –  () –  () – 
. ‘  ’    –
()   ()  ()     () -
.      ?
()   ()  ()  () 
.   -   –   ?
()  ()  ()  () 
.        –   ?

()  ()  ()  () 
.       -   
()         ()    
   ()       ()     
.    –   
()     ()       () 
      ()      
. ‘’    ?
()  ()   ()  () 

. () . () . () . () . () . () . () . () . () 
. ()

Directions (Q 1-6): Fill in the blanks to make the sen-

tences meaningfully complete.

1. Freedom is not a …….. but our birth right.

(a) sin (b) gift c) farce (d) illusion

2. I am given to ……… that you are going abroad.

(a) learn (b) think (c) predict (d) understand

3. The sale of the cassette …….. to an astonishing figure

of 20 lakh.

(a) jumped up (b) soared up (c) shot up (d) went up

4. It is time you ………home.

(a) go (b) have gone (c) went (d) are going

5. I cannot agree …….. your proposal.

(a) of (b) to (c) with (d) by

6. No sooner did he go in…he came out.

(a) then (b) when (c) than (d) and

Directions (Q 7-9): Choose the word which can be sub-

stituted for the given phrase/ sentence.

7. A person who collects coins.

(a) Philatelist (b) Numismatist (c) Narcissist (d) Fatalist

8. Policy of a political party.

(a) Manifesto (b) Agenda (c) Report (d) Circular

9. A person who betrays a friend.

(a) Traitor (b) Cheat (c) Hypocrite (d) Disloyal

Directions (Q 10-13): Find out the correct prepositions.

10. He was angry ........ my behaviour.

(a) with (b) at (c) to (d) into

11. I was angry ......him.

(a) with (b) at (c) for (d) of

12. I am not aware ..... his intentions.

(a) at (b) of (c) on (d) with 

13. He is blind .... his own faults.

(a) to (b) of (c) at (d) in 

   

 : 

SECOND LANGUAGE: ENGLISH



ANSWERS

1. (b) 2. (d) 3. (c) 4. (c) 5. (b) 6. (c) 7. (b) 8. (a) 9. (a)  

10. (b) 11. (a) 12. (b) 13. (a)

.    –
()   ()   ()   () 
.      –
()   ()   ()    
() 
.   –
()  ()  ()  () 
.          ?
()  ()  ()  () 
. -      –
()  ()  ()  () 
.         
–
()   ()    ()   ()  
.      –
()  ()  ()  ()  
.        –
()  ()  ()  () 
.      –
()  ()  ()  () 
.     –
()  ()  ()  ()  

. () . () . () . () . () . () . () . () . () 
. ()

1.      9.5 ,     5.5

    () ?
(a)  4  (b) 1.5  (c) 2  (d) 3.5 

2.        28   ?
(a) 60 (b) 55 (c) 50 (d) 35

3. 10  A-  B-      
  3 : 4 ,      ?
(a) 8  (b) 20  (c) 35  (d) 25 
4.     8%   ,    27  
   ,  10%     ?
(a)  180  (b) 160  (c) 170  (d) 190 
ANSWERS

1. (b)   +    = 9.5 
 +   ,,       ,,       ,,  = 5.5 

                         = 4 
  = (5.5 – 4 ) = 1.5 
2. (a)  ,  = x

(x  )  =
.

(x  )  =

⇒

⇒ 7x = 28×15   ∴ x =

3. (c) A-   3x   
B-   4x 
, 10   A-  B-   
 A  B-   1 : 2

  2(3x – 10)= (4x – 10)
or, 6x – 20 = 4x – 10 or, 6x – 4x = 20 – 10

or, 2x = 10 or x = 5

     (3x + 4x) = 7x = (7×5) = 35 
4. (b) ,     27      
    10%  
  (8 + 10)% , 18% = 27 

  1% = 

,  100% =  = 150 

   = 150 



 


